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Compulsory
Question-1

(a)
Rajendra Kaur purchased a set of cosmetics and paid Rs 165 for it including sales tax. If the rate of sales tax is 10%, find the sale price of the set.

(b)
On what sum of money will the difference between the C.I. and S.I. for 2 years at 8% per annum be equal to Rs. 8?

(c)
Solve the following equation:


x2 - 2
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x + 2 = 0

Question-2
(a)
If 
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(b)
Find a if x-2 is a factor of 

x3 + ax – 4

Question-3

A and B have co-ordinates (3,2) and (0,3). Find

 
(i)
The image A’ of A under reflection in the x-axis.


(ii)
The image B’ of B under reflection in the line A A’


(iii) Calculate the length of A’B’, A A’, BB’, A’B and AB’.

Question-4
(a)
Without using trigonometric tables, evaluate
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(b)
Solve the following inequation and graph the solution set on the number line. 



3x -5 < x + 3 
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 + 3x + 7 ; x
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Question-5 


Given are the entries in a saving bank a/c pass book. The account was closed on 31st July  2004. calculate the interest earned for the period ending 31st july 2004 at 3.5% per annum :
	Date
	Particulars
	withdrawal
	Deposit
	Balance

	02-4-04
	B/F
	
	
	Rs 3,242.00

	06-4-04
	To cheque
	Rs 600.00
	
	

	10-4-04
	By cash
	
	Rs 250.00
	

	04-5-04
	By cash
	
	Rs 780.00
	

	04-5-04
	To self
	Rs 500.00
	
	

	12-6-04
	To self
	Rs 200.00
	
	

	25-6-04
	To self
	Rs 800.00
	
	

	07-7-04
	By cash
	
	Rs 250.00
	


Question-6
Prove that
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Question-7

A road 3.5 m wide surrounds a circular plot whose circumference is 44 m. Find the cost of paving the road at Rs 100 per m2
Section-B ( 40 marks)

Answer any four question.

Question-8
(a)
The ratio of the monthly income of A and B is 6:7 and the ratio of their expenditures is 4:5. If the amounts of their monthly savings are Rs 12,00 and Rs 1,000 respectively. Find the respective monthly income. 

(b)

A function “ f ” is defined on the set of real number R as 



f(x) = 
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find (i) the domain of “ f ” (ii) the range of “ f “ (iii) f (5) (iv) x if f (x)=2

( c)  Given below are the weekly wages of 200 workers in a small factory.

	Weekly wages is Rs.
	80-100
	100-120
	120-140
	140-160
	160-180

	No of worke rs
	20
	30
	20
	40
	90


Calculate the mean weekly wages of the workers.

Question-9
(a)

A man in vests Rs 11,200 in a company paying 6% p a when its Rs 100 shares can be bought for Rs 140. Find (i) his annual dividend and (ii) his percentage income on his investment.

(b)

If x= acos 
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 , y = b cot 
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Question-10
(a) Find the equation of the straight line which passes through the point of inter section of the two lines 2x-y+5 = 0,  5x + 3y – 4 and is perpendicularto the line
          X – 3y + 21 = 0
(b)
Two circles touch externally. The sum of their areas is 130
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sq cm and the distance between their centres is 14 cm. Find the radius of the circles.

Question-11 
(a) Draw a histogram for the following data:

	Weight in kg
	40-44
	45-49
	50-54
	55-59
	60-64
	65-69

	No. of candidate
	2
	8
	12
	10
	6
	4




From the histogram, estimate the mode. 

(b) The angle of elevation of a stationary cloud from a point 25 m above a lake is 30
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 and the angle of depression of its reflection in the lake is 60
[image: image23.wmf]o

. What is the height of the cloud above lake-level.

Question-12
(a) 
  If  
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Find the value of x and y.

(b) A cylinder of length 6 cm and radius 3 cm is attached to a cone of height 4 cm. Find

(i) volume of the cone (ii) volume of the cylinder (iii) Total volume (iv) curved surface area of cone (v) curved surface area of cylinder (vi) Area of end of cylinder.

(c) In the adjoining figure, PQ is a tangent to the circle at A, DB is a diameter,

Picture
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ADB = 30
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 and 
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CBD = 60
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 Calculate (i) 
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Question-13
( a) Draw two lines OA and OB such that 
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AOB = 45
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. Using ruler and compass only, draw a circle of radius 2 cm to touch OA and OB.

(c) Find the value of p, given that the line 


y/2 = x – p passes through (-4 , 4). 


( c)
If R = { ( x, y) : x, y 
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N, (x –y) is divisible by 7 };


prove that R is an equivalence relation. 

Question-14
(a) In the diagram alongside, 
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CAE and 
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ADE = 
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ABC

(i) Prove that 
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ADE and ABC are similar (ii) If AC : BC = 3:2, find DE : AE 

( b)


The annual income of Mr, Montu is Rs 1,90,000 (excluding HRA ). He contributes Rs3000 per month in his P.F. and pays an annual premium of Rs. 30,000 towards his L.I.C policy. He also donates Rs 2,000 to P.M. relief fund. Calculate the income tax paid by him in the last month for the year if his earlier deduction for first 11 months for income tax were at the rate of Rs 1000 per month.
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